Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[4104]-101

Time :

N.B.

M.A. (Part I) (First Semester) EXAMINATION, 2012
ECONOMICS
(EC-101 : Micro-Economic Analysis—I)
(2008 PATTERN)

Three Hours Maximum Marks : 80

:— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one of the following questions in 500 words : [20]
(1) Explain fully the Law of Variable Proportions.
(2)  What is Consumer Surplus ? Analyse the Marshall’s measurement

of consumer surplus.

Answer any one of the following questions in 500 words : [20]

(1)  Critically explain the Revealed Preference Theory of demand.

(2)  What is utility ? Explain fully the law of Diminishing Marginal
Utility.

Answer the following questions in 250 words each (any two) : [20]

(1) Explain Accounting and Economic Costs.

P.T.O.



(2) Explain external economies and diseconomics.
(3) Explain income effect with the help of indifference curve.

(4) Explain merits and demerits of Dynamic economics.

4, Write short notes on (any four) : [20]
(1) Average cost and marginal cost.
(2) Demerits of deductive method.
(3)  Substitution effect
(4) Cross elasticity of demand
(5) Linear homogenous production function

(6) Fixed and wvariable costs.

(TS TUIR)
q% : o\ A THU T : 80
o :— (i) §d T3 e
(i) ISEhele 3 qul O <Fifaar.
({ii) W AHA! MU HLYS G,
(iv) SAIFIH d9 Yosh IMHAT hlal

(v) TeUEdl Heo ST WU e
1. UTOoTHR FUER TR F3Ad 500 IR SW fodl [20]
(1) e gHmmeEn f9H |fasl & 6.

(2) USRI GO WUS 1 ? HAETS J=91 SUSIFAT=A]
GArfeRT=a HisHae fagonur .

2. TOGUS! DUER TRl TAT 500 I W fowr [20]

(1) HUU=A ghdld qudl fagra fesricass Taedientor =

(2) SUAfE WS ™ ? ¥ HHN YRl faga gfasy e
.
[4104]-101 2



3. Tl WAR T 250 IR SW o feR (FOcE gF) e [20]
(1) o o R Td T &
(2) W& SEdr oA did Tee kA
(3) UHIR THIAT WA 3Icq-1 URUM TR FHA.
(4) TfaHE AR [U-SME T R

4., geFE four fesr (FUE@ WwR) [20]
(1) a8 =" enfn Hu w=
2 fm usde 9
(3) TRt aRomH
(4) HETOET ST Sdfeehdl
(5) Wl {OF Thiszll Scded wed
(6) feer enfl Sgea =

[4104]-101 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[4104]-102

M.A. (Part I) (First Semester) EXAMINATION, 2012

Time :

ECONOMICS
(EC-102 : Public Finance)
(2008 PATTERN)

Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

1. Answer any one of the following questions in 500 words : [20]

(1)

(2)

Discuss the role of Government in Organised Society and Mixed
Economy.
What is taxable capacity ? Explain the determinants of taxable

capacity.

2. Answer any one of the following questions in 500 words : [20]

(1)

(2)

Explain fully Wiseman-Peacock hypothesis of the growth of Public
Expenditure.
What is public debt ? Discuss the methods of Repayment of
Public Debt.

3. Answer the following questions in detail with 250 words each (any
two) : [20]

(1)

Explain the concept of private goods and social goods.

P.T.O.



(2) Explain in detail the ‘Benefit Principle’ of taxation.
(3) Explain the theories of shifting incidence.
(4) Explain the classification of Public debt.

4, Write short notes on (any four) : [20]
(1) Burden of Public Debt
(2) Types of Incidence of Tax
(3) Measurement of taxable capacity
(4) Excess burden of tax
(5) Ability to pay principle of taxation

(6) Social cost benefit analysis.

(WS wUT)
q% : o\ A THU T : 80
o :— (i) §d T3 e
(i) ISEhele 3k qul IO <Fifaar.
(iii) USIES G TUSH WEAUAHT URrE.

1. UTOowh SUERI Tk WAE SR 500 IR fowr e [20]
(1) Tay Sdraedm o ¥l Tnea®d  IMere fHeered ==
.

(2) HERIIEE WIS HEF ? HEIUEG SUIUR HSh TR H.

2. Uo@Um HUAE TH WAd SK 500 =@ fowr [20]
(1) dEsa-fasis A=A WESHS 9 JSe e heddl diawR T
.

(2) HESe: HSl WUS k™A ? HESeh el Gdher Ugdl o
.

[4104]-102 2



3. WPe WA IW FIE 250 T=E few (PG @) [20]
(1) TP oW 9 9IS 9% a1 Gheddl % H.
(2) HEOUE OH-del’ Giawl e .

(3) HUR HhHum=El fag<a W &L

(4) HESd% ol RO T H.

4, deHEd dw fog (SR 9r) [20]

(1) geSie el ¥R

(2) HENE ThR

(3) HIWRUBIdD HISMHMY

(4) IR HIR

(5) HIAGUTE HQT  &HAT qcd
(6) GHiSe TE-o9 fagou.

[4104]-102 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4104]-103

M.A. (Part I) (First Semester) EXAMINATION, 2012
ECONOMICS
EC-103 : Agricultural Economics
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(1) Evaluate the progress of Indian Agriculture during the period

of Five Year Plans.
(2) What is Green Revolution ? Explain the nature and recent

development in green revolution.

2. Answer any one of the following questions in 500 words : [20]
(1) What are the problems of co-operative credit system ? Explain
the recommendations of Vaidynathan Committee for co-operative

credit system.

(2) Describe the problems of Agricultural Marketing in India.

P.T.O.



3. Answer the following questions in 250 words each (any two) : [20]
(1) Explain the problems of Agricultural Management in India.
(2) “Farming as a business or way of life.” Comment.
(3) Explain the scope of Biotechnology in Indian Agriculture.
(4) Explain the role of NABARD in Agricultural Credit.

4, Write short notes on (any four) : [20]
(1) Types of Agricultural Marketing
(2) Principles of Agricultural Management
(3) Importance of organic farming
(4) Self-help Group
(5) Agriculture price policy
(6) Scope of Agricultural Management.

(W& EUIR)
d% : o a™ THOT 0T : 80
AT :— (i) ¥ WA EEds .
(i) IoERel® 3T U IO SFifadm.

({ii) SW THA! 9 HLHS ITEME[.

(jv) USHHE W TS UIAAAh] TRE.

1. TOOUH! HUERT Tk Tl W 500 v fowr [20]

X N N

(1) Hoertier ASHl Fleodie 9RAE e Wi JeaHdT .

(2) TOFwd WIS FE ? TAsd WEY ST ASFHSAT HIAdS
GURUT T .
[4104]-103 2



2, WOOYR HOAE Teh WAET SW 500 V| o [20]

(1) wearl foaqiacur=a EHde 9981 Sl ? §ehRl faaqiesarered

JEATeE wiaden RTeEt T &L
(2) YOG IqUTe fasicaaRddic guen foRe &,

3. WOoUH! ORI QM TR S YOl 250 vesid fowr [20]
(1) 9RO 30l SHEEATOr=a |98 T 6.
(2) ‘St T FAEE HI SeAdgdar 2" qHY Hd 9L
(3) URAK® IAEEAN® SedadETEl STl T .
(4) TS I dqLESIde i forg .

4, dieRd W TRl (RUERT WR) [20]
(1) A fashicaeed= YR
(2) Il HATITOART T
(3) ¥E I HEw™
(4) TIHEE T
(5) 3 fRma €

(6) 3l TIEATYATH AT

[4104]-103 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4104]'104

M.A. (Part I) (First Semester) EXAMINATION, 2012
ECONOMICS
(EC-104 : Indian Economic Policy)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer the following questions in 500 words each (any one): [20]
(i) Explain the Indian population policy since independence.

(ii) Explain the role of public sector in India.

2. Answer the following questions in 500 words each (any one): [20]
(i) Explain in detail financial system in India.

(i) Discuss the growth and pattern of industrialisation in pre-reform

period.

P.T.O.



3. Answer the following questions in 250 words each (any two): [20]
(i) Explain the causes of Rural-Urban migration in India.
(i1) Evaluate Agricultural Marketing policy.
(ii1) Discuss the Education and Health System in India.
(iv) Explain the Reforms in Indian Labour Market.
4, Write short notes on (any four) : [20]
(i) Nature of poverty.
(it) Problems of Privatization
(iti) Assessment of economic reforms
(iv) Sources of energy
(v) Trends in Indian capital market
(vi) Role of small scale industries.
(TS ®UI)
q% : o\ A THU T : 80
FOH — (i) WA WA STeRdsHh 3.
(i) ISEhele 3k qul IO <SFifaar.
(iii)) JW AHRI 9 HLgS SAHMEI.
1. Uoe WA Yok 500 IR SW foel (FOARI Teh) [20]

(i) YA WAANRTY Shae 8R0 T &

(ii) YRAMIe HESS el il T 6.

[4104]-104 2



2. WHG WA YK 500 IR IW TR (FRIVAR! TH) [20]

() YRddie foda Yudl gfasdy wse &L

(i) oM QUROTYET=N Hieniie SRR a/¢ S sfehdiey 9
== B

3. Wde YAl SW TRl 250 I foml (FUdEl @F) : [20]

(1) YRS WHIT-IEN  WSaumEl hIo T .

(ii) Fd9e faquH ERUME HedHMad 6.

(iii)) YRante frge onfor g ggd=t ==l .
(jv) YRAMIG 99 INNde gurRom s .

4. dew@ four fegr (@ =m) [20]

() Cqsae E&Y

(i) TR GHE
(iii) oTfefer GUROMe  HeTHI
(Gv) 359 Fa

(v) YRAE Yede dANRAS IS0

(vi) o ST qfHeRT.

[4104]-104 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4104]-105

M.A. (Part I) (First Semester) EXAMINATION, 2012
ECONOMICS
(EC-105 : Labour Economics)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(i)  Critically examine the Marginal Productivity Theory of
Wages.

(ii) Explain the nature, scope and importance of labour

economics.

2. Answer the following questions in 500 words each (any one): [20]

(i) Explain the structure and achievement of Labour Unions in

India.

(i1) Take the review of wage policy in India since reforms period.

P.T.O.



3. Answer the following questions in 250 words each (any two): [20]
(i) Explain the peculiarities of labour.
(i) Explain the concept of minimum wage and fair wage.
(ii1) Explain the causes of Absenteeism of Indian Industrial Labour.

(iv) Explain the role of labour union in strengthening the industrial

relations.

4, Write short notes on (any four) : [20]
(i)  Effects of migration of labour
(ii) Need of safety net
(zi1) Exit policy
(iv) Role of Tripartism
(v) Causes of industrial disputes in India.

(vi) Causes of low labour turnover in India.

(AOE ®U)
q% : o\ A TR T : 80
o :— (i) §d WA e
(ii) 3Ivehele & YU O SFifaa

({ii) JW THHI 9 HLHS SAHE.

(lv) TS Yoz TUSH TEULTRT TG,

[4104]-105 2



1. Ude WAEl W Y 500 I foRl (SR Ueh) [20]

(G) daren faua Scacwar fagia fewrcrss qftegor .

(i) 9| AW TWEY, A A Hecd TR &

2. WHT WA IW TR 500 I @ (FUMET Tw) [20]

() YRAE SRR Gl AT ST I e &

(ii) GUNUThHIRBIRAA YRAE  odd  EROm=n STl =4

3. THT WA I UI  250 IR fodl (U g [20]
(i) omrEn ARTRl T &
(i) THAE @9 onfr Adrg 9a9 @ Hheddl TR R
({ii) YRAN® SN sfferen ST uferd=l HRI T .

(jv) oTENfTh FaY Fdhe HOAMHG FHIFR o= fFsT T H.

4, dgeHEd dw fog (SR |9r) [20]

(i) A= e g,

(i) e Sessl TS

(i) TriH aro

(jv) TU&iE ooREl  YfHe

(v) YRAE STEIfiTh ol SR

(vi) YRANS YfHe e HH A K.

[4104]-105 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4104]-106

M.A. (Part I) (First Semester) EXAMINATION, 2012
ECONOMICS
(EC-106 : Co-operation Theory and Practice)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i) Explain the nature and characteristics of Co-operation.

(ii) Explain the objectives and problems associated with Co-operative

Audit System in India.

2. Answer any one of the following questions in 500 words : [20]

(i)  Describe the history and growth of Co-operative Movement in

Germany, Japan and Great Britain.

(ii) Explain the progress and problems of Urban Co-operative Banks

in Maharashtra.

P.T.O.



3. Answer the following questions in 250 words each (any two): [20]
(i) Explain the role of NABARD in rural credit in India.

(i1) Evaluate the progress and problems of sugar industry in
Maharashtra.

(ii1) Explain the broad features of Societies Act, 1960

(iv) Explain the benefits of Co-operation.

4, Write short notes on (any four) : [20]
(i)  Principles of Co-operation.
(it) Problems of Co-operative Training.
(ii1) Function of Co-operative Auditor
(iv) Recommendations of Vaidyanathan Committee Report
(v) International Co-operative Alliance.

(vi) Problems of state Co-operative Bank.

(AOE ®U)
q% : o\ A THU T : 80
o :— (i) §d T e
(i) ISehele 3 qul IO <SFifaar.

({ii) JW THHI 9 HLHS SAHE.

(lv) TS Yoz TUSH TEAULTRT TG,

1. TOOwh VAR TH WA SW 500 | fowr [20]

() HeRNE W®Y 9 JdRTe W K

(ji) YA Hehil Aheu Hoed=i 3fese onfor =Jowd=i wefud o
T .
[4104]-106 2




TH@Uh! PR ek WA SR 500 IR fowr e [20]

() SHA, SUE Ul ToeHYe WehRl wodedl Sfded STl W
ol

(i) WENINM® AMH TRl st Wdl STl e Tasdeiol .

Gole grAEl S Ul 250 I foRl (RIUE @F) [20]

(i) YRAde UHU YqqREdedTdie Aered e wse .

(i) VERIMie WeR Sum=l W Sl I9qe e qeada .

(iii) 1960 = HEHK AT hrASAEl Sooch AR TR &

(lv) UEhNEl TR WS &

deqa few forr (@@ =Iw) [20]

() YUeHNEl dd.

(i) HEHR YRTAUTT HHEN

(iii) DWUReTRT=l Hd

(jv) S gGfaden RBrereh
(v) ST Gl g9

(vi) TSI HEHN Sh=AT GHE.

[4104]-106 3



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4104]-107

M.A. (Part I) (First Semester) EXAMINATION, 2012
ECONOMICS
(EC-107 : Mathematical Economics)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point

(iv) Use of non-programmable calculator is allowed.

1. Attempt any one out of two of the following : [20]
(1) The cost and revenue functions of a commodity are given

by :

x2
C=—+5x+1000
25

R = 126.6x — 3x?2
If a tax ¢ per unit is imposed, what will be the change in
maximum profit; if C remains unchanged, find how much of
t is passed on to the consumers. Find the effect on profit

when ¢ = 6.

P.T.O.



(2) Given the cost function C = 5x and the demand function
P = 29 — 4x. Find the optimum price and quantity before
a tax of one rupee per unit is imposed. Find the tax rate
that will maximise tax revenue. What will be the tax revenue

if an additional tax of Rs. 20 percent is imposed ?

2. Attempt any one out of two of the following : [20]

(1) Find the unknown quantities in the following equations :

'3 x w+3 3 2w-1 2x-19
(@) =
4y 2 b5z 20 2 z—-12
[ 38x 4’ (12 + x 4
(b) 2y_|_3 z = 11 32—6 .
Sw-2 y Sw + 7 4 |

(2) Show that for the Harrod model :
S, = aY¥, I, = (Y, - Y, )

S, = 1

; a, b > 0.

1>
3. Attempt any two out of four of the following : [20]
(1) A machine costing Rs. 4,000 will be fully depreciated after

20 years. Represent this by a linear depreciation function. What

happens if there is salvage value of Rs. 1,000 ?

[4104]-107 2



(2)

3)

(4)

(3)

[4104]-107

Solve :
xX; + 6x9 — x5 = 10

2x; + 3xy9 + 3xg = 17

3x; — 3x9 — 2x¢5 = -19.
Prove that :

72n 4 93n-3  gn-1

is divisible by 25.
Find the linear relation between x units of a product and
its total cost C is given that for 500 units, C = 600 and
for 1000 units C = 9000. Find the fixed cost (F) and variable
cost (V), and the number of units that should be produced
when profit is (a) 0, (b) 1000, (c) — 600, at the selling price
of 10 per unit.

4, Attempt any four out of six of the following : [20]
(1) Show that :
{1+l+i+ ........ Ml—l+i— ......... }zl
1! 2! 1! 2!
(2) Solve

) lim\/G_x_\/6+x.

Find the elasticity of supply if the supply function is given

as

g=2p*+3p+1 when p = 4.

3 P.T.O.



(4)

(5)

(6)

[4104]-107

Find the total revenue at 18 units of output of a firm, if
its marginal revenue is 10 — 2x + x2.
Solve :

4x +1-3(x —-1)=Tx - 2(1 - 3x).
Let 2p + 39 = 54 where p is the price and ¢ is the quantity.
Indicate the mathematical and meaningful domain and range
of this function, when :
(1) Price is the independent variable.

(2) Quantity is the independent variable.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4104]-108

M.A. (Part I) (First Semester) EXAMINATION, 2012
ECONOMICS
(EC-108 : Demography)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain in detail the relationship between population and economic
development.

(2) Critically evaluate the population trends in recent years in

India.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain fully the demographic transition theory of population.

(2) What is meant by quality of population ? Discuss the factors
affecting quality of population.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Write a brief note on the optimum theory of population.

P.T.O.



(2) Discuss the nature of population explosion in the developing
countries.

(3) Explain the importance of women empowerment for economic
development.

(4) Explain in brief the Malthusian theory of population.

4, Write short notes on (any four) : [20]
(1) Meaning and nature of demography
(2) Birth rate and death rate
(3) Concept of Age pyramids
(4) Human Development Index
(5) Infant mortality rate
(6) Population policy on Health.

(WS B|UIA)
q% : o\ A TR T : 80
o :— (i) §d WA e
(i) ISEhele 3k qul O <Fifaar.

({ii) JW THHI 9 HLHS SAHE.

(lv) TEIEIE Yoo TUSH FEdrAIhT e,

1. wooum HUAE UTe WAe S| 500 I fear [20]
(1) opae oAt e fowe Iidlo WEREdd gfawR w5
h .
(2) oAfowhcio Fled TRAT GHEEIAS Jaxia  2Ihcds  TXeT
h .
2. TOGHHR FUEE Tk TAE K 500 =@ fom [20]

(1) ShaEn dHAur=a faga afe® T &3
(2) OhEEHl TUE WU ®E 7 Shuedsl UETeR GRUM HIvR

ek hIUd  ?
[4104]-108 2




3. Toe WA SW TIHR 250 I fou (SumE 9F) [20]
(1) Jrue=a Tiwd ggaer gesd du fomrn
(2) fowgwEie ENde Jnaed faeRRr= WEdEr 9= S

(3) onfder farERiial SIS ne Hecd T .

(4) WISl IRHEEA faga dieda W w.

4, dgeHEd dw fog (SR |9r) [20]

(1) JFHARETSENET A4 9 WEY

(2) SEHI 9 JIX

(3) DRI TME IR T

(4) wFa fawm fEms
(5)  ITHFTIN

(6) ARTIfaoIF: DHEEAT L.

[4104]-108 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4104]-201

M.A. (Part I) (Second Semester) EXAMINATION, 2012
ECONOMICS
(EC-201 : Micro-Economic Analysis—II)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions (in 500 words) : [20]
(i)  What is Perfect Competition ? Explain equilibrium of the firm
and industry under Perfect Competition.

(i) What is Oligopoly ? Explain critically the Cournot’s Model of

Oligopoly.

2. Answer any one of the following questions (in 500 words) : [20]
(i)  Explain in detail Baumol’s Model of Sales Revenue Maximization.
(ii) What is Monopolistic Competition ? Explain equilibrium of the

firm and group under Monopolistic Competition.

P.T.O.



3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the equilibrium under Discriminating Monopoly.
(ii) Explain the excess capacity under Monopolistic Competition.
(iiz) Explain Modern Theory of Rent.
(iv) Explain Euler’s Theorem.
4, Write short notes on (any four) : [20]
(i)  Conditions of Pareto Optimality
(it) Collective Bargaining
(iiz) Risk and Uncertainty Theory of Profit
(iv) Features of Duopoly
(v)  Selling Costs
(vi) Types of Price Discrimination.
(WS wUTR)
d% : dF a™ THOT 0T : 80

T :— () |& Yz e
(i) RS siw g M qEifad.
(iii) IW AHKI MU HLHS STEME(.
(iv) SAEFFIh dU Geoh AThAl hlal.

(v) UCHMEE Too TUSH YFAdAeh] UTE.

1. UTOoYR HOEE Th WA 500 I SR fowl [20]

()

(i1)

[4104]-201

ol Wyl WUS wE ? SARAEE SN M A qu WEdie aedie
W H

~ o N o o o

IR RN TEUNS Shd ? Aol STeUldshdldeh JfaHMTe feshTeneh

TSRO .




[aV

2. UOGUh! DRI Tk WA 500 I S foRt [20]

() dFUed faot Ul AsaHieo 9fquE gfaR T
(i) VRRRIgHE Wl TS $F ? ARGRIgH Wide et s

g8 I §Edle W &

3. Uoe WA Y 250 IS SW foel (RivkEl dF) [20]

(i) Ta9STHe® FHceRidle 9Hde T 6.

(i) VRRERgH Widie oifaRed &mar e .
(i) Teml MY fagra = &

(jv) IS THE TE HA

4, dEeH@ du fow (FOER W R) [20]

() W Hwad e

(i) WHEH FeEwER

(1i) THIET e oAU STfMRwaar  fagra
Gv) fefashartuerm=t I
(v) famt ==

(vi) VIUSE YhIL.

[4104]-201 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
.~ [4104]-202
M.A. (Second Semester) EXAMINATION, 2012
ECONOMICS
(Paper EC-202 : Indian Public Finance)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any one of the following (in 500 words) : [20]

(1)

(2)

What is Budget ? Explain the economic classification of Budget
in India.
Explain the trends in the revenues of the Central Government

of India since 1991.

2. Answer any one of the following (in 500 words) : [20]

(1)

(2)

What is deficit financing ? Explain the trends in different types
of deficits since 1991.

What is Fiscal Policy ? Take a detailed review of Indian Fiscal
Policy since 1991.

3. Answer any #fwo questions (in 250 words each) : [20]

(1)

Explain the recommendations of Eleventh Finance Commission.

P.T.O.



(2) Explain the Balanced Budget Multiplier.
(3) Explain the objectives of Deficit Financing.
(4) Explain the burden of public debt on Indian Economy.

4, Write short notes on any four (in 100 words each) : [20]
(1) Components of Budget
(2) Reforms in Direct taxes since 1991
(3)  Fiscal deficits
(4) Objectives of monetary policy
(5) Principles of federal finance

(6) Horizontal Imbalance.

(TS ®UI)
q% : o A THU T : 80
o — (i) Wd WA Hiefau dEdsh SR
(i) ISEhele 3 qul IO <Fifaar.
(iii) TEuidIdl ¥ TUSH WUl UgrEl.

1. TOoUh HUER TRl WA SW fow (500 I=@) [20]
(1) oRNUIH BUN HE 7 ARAS SIeeAshM  3fds i T
.

fal

(2)  19919A YRATAT H3d WhHRAT FEHIAO oQord  TIse I
.

2. TOeUR! HUEE Tl FEAEl SR few (500 IRE) [20]
(1) goen HAdeRon wWuN w7 19919RA e fafay gemia s
TC@ T H.
(2) TSRS RO WS hd 2 19919RH 9RAR TSRS R Hio&iT
SICCIRI
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3. FUEE 4N WA S few (YR 250 IE) : [20]
(1) 11=n fou =N RTeRh o= &
(2) WEgod SRNUSR Uk TR H.
(3) e dmuaEt e T L
(4) YR SdHTEERie WESeh  Seidl YR TR &

4, HUER WRR e[ few fow (FEet 100 IEE) [20]
(1) SRNYFSRE WH
(2)  19919FH YoI§ HAclo NN
(3) fodia ge
(4) FSAfTHIS  gRuT 3fese
(5) g fomml do

(6) THEE STHUAG.

[4104]-202 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4104]-203

M.A. (Part I) (Second Semester) EXAMINATION, 2012
ECONOMICS
EC-203 : Indian Agriculture Problems and Policies
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i) Explain the present policy of Ceiling on Land holdings.

(ii) Explain the causes of low efficiency of Agricultural Labour in

India.

2. Answer any one of the following questions in 500 words : [20]
(i)  State the recent export-import policy of Vegetables and Fruits.
(i1) Assess the effects of W.T.O. on Indian Agriculture.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the recent Agricultural problems in India.

P.T.O.



(ii) Examine the SEZ policy in India.

(iizr) State the recent changes in Export Policy of Flowers, Spices

and Grain Crops.

(iv) Explain the importance of Employment Guarantee Scheme.

4, Write short notes on any four [20]
(i) Agreement on Agriculture under WTO
(i1) Problems of Agricultural exports
(iiz) Indian Agricultural Labour Policy
(iv) Unemployment Problems
(v)  Agricultural Subsidies

(vi) Agricultural problems in Maharashtra.

(WS wUIaR)
q% : o\ A THU T : 80

T :— (i) WA WA STeRISR 3R
(i) Sodher® % qui O SFife.

({ii) JW THHI 9 HLHS SAHE.

(lv) TS Yoz TUSH TEAULTRT TG,

1. Uoous HUERI Tk WA 500 =M Gl [20]

(1) UG SHAURUNTEeh TIEdidies dRu T H.

({i) 9IRAMIG IOASUe STeIRRIgHad] RO T .
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2. TOGUR! DUARI Tek WA 500 IREM Aredl [20]
(1) YO 3N Hes AT FEHdio ASIhels STEh-TIid &R 9rT.

(i) SFIdeh SR Feed=al WRdE  Ideade IRUME JegHdd .

3. T WAl T 250 I SW fow (e @F) [20]

() 9Ede I SToihele U TR .

(i) YR foRm onfde &3« gheur .

({ii)) |, O AU 9 A WeUidio A URUHe  STOihels 9es
.

(Gv) USTR BH IdeHY Hed TR HI.

4, geHEd dw fog (e 9r) [20]

(i) SNfder SAMR el IIdiaude R

(ii) FrdffooEess 9ol «om= qHen
({ii) 9RAE  FIAHSX GO

(jv) SRR FHE

(v) AfaTEE SR

(vi) VRN =T HHE

[4104]-203 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4104]-204

M.A. (Part I) (Second Semester) EXAMINATION, 2012
ECONOMICS
(EC-204 : Industrial Economics)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain in detail the industrial profit with various types of
industries.

(2) Explain and critically evaluate Weber’s theory of industrial

location.

2. Answer any one of the following questions in 500 words : [20]
(1) Write a detailed note on the various sources of industrial finance.
(2)  Critically evaluate the Government Policy towards the foreign

capital.

3. Answer any two of the following questions in 250 words each : [20]
(1) Explain the concept and causes of industrial imbalance.

P.T.O.



(2)

What are the factors affecting productivity and capacity

utilization ?

(3) Give a brief outline of the Industrial Policies prior to 1991.

(4) Write a note on the problems of small scale industries.
4, Write short notes on (any four) : [20]

(1) Need of the study of Industrial Economics.

(2) Need for balanced regional development of industries.

(3) Foreign Institutional Finance.

(4) Problems of public sector industries.

(5) Industrial Monopoly.

(6) Role of MNCs in India.

(TS TUIR)

q% : o\ A TEHUT T ;80

o :— (i) §d WA diefau eRds R
(i) IoERel® 3T U IO SFifadr.

({ii) SW THA! 9 HLHS THME[.

(jv) USHHE W TS UTAUAh] TRE.

1. TOOUHR @R TRl T K 500 I[ fodl . [20]

(1)
(2)

[4104]-204

SN Wey o fafgay yer giaew @

o (a) o

JC AN AR fagare TRl 9 Shlcash ga0 ol

2



2, TOOUR! RUEE TR WBAE S® 500 IR feR [20]
(1) oienfe fouren fafoy vmier wfesw 3w fomn

(2) fazlt viedoeEd  IMEATAT SRUMY SrehicHeh TISSehul =T

3. TOoUR! HUGe & WEAE SW 250 Iesid foml [20]
(1) SRS STHdle Gheddl o el SR T H.
(2) SARHA o gHAl fafENTeR IRUMHAOM 2k hivd 2
(3) 1991 Ydten 3iEifier dRum= diewma wwen fom.
(4) ogSENE FERER T

4, dMerd Aa o (R |ar) [20]
(1) 3Tenfiter TeRTEr=a SINATE=  STaE k.

(2) EMEN Ggfod URRTe fasmEmt  STaaehd.

(3) foozlt weemcHesh e[

(4) HESME AMS I GHE
(5) 3fEnfrer AR

(6) TEURE HUAE HRAMG .

[4104]-204 3



Total No. of Questions—4] [Total No. of Printed Pages—3

S;at [4104]-205

M.A. (Part I) (Second Semester) EXAMINATION, 2012
ECONOMICS
EC-205 : Rural Development
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the scope and importance of rural development of

India.

(2) Evaluate the “Swarn Jayanti Gram Swarozgar Yojana”.

2. Answer any one of the following questions in 500 words : [20]
(1) What is “Rural Unemployment” ? State in detail the causes
and its remedies.
(2) What is “Green Revolution” ? Explain its achievements and
failures in India.

P.T.O.



3. Answer the following questions in 250 words each (any two) : [20]
(1) Explain the agrarian reforms in India.
(2) State in detail the nature of rural economy.
(3) Describe in detail the causes of rural indebtedness of
India.
(4) Give a brief outline of “Food for Works Programme”.
4, Write short notes on (any four) : [20]
(1) Tribal Development Programme;
(2)  Rural Industrialization;
(3) Irrigation in India;
(4) Structure of rural economy;
(5) Training for Rural Youth and self-employment;
(6) Rural Transport.
(WS wUT)
q% : o\ A THU T : 80
I :— (i) §d WA Hree
(ii) 3IEhele 3T YU U SIifodr.
(iii) JW AHRI 9 HegS SAHMEId.
(jv) TSR Yoz TUSH WIAULAH] TRE.
1. Uoe WA ®UdE Wehld K 500 Iead Tl [20]

(1) YRAdie UH faemEl el AT Hed W& .

(2) Ui TE@ UM SR AeHY JedHdd .
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3 Gfad® 9.

(2) @ At =US kI ? YRS Bd hidE 3T ST TR TS
.

3. Too WA T 250 IEE SW fow (FURE |F) [20]
(1) 9RAdie  3d GUROT ¥
(2) T IR WEY gfaw) |
(3) YRGS ATHOT FHofeTSIqom=q HROME FfGER gud .

(4) “'HEEE U9 SESHET e e wl.

4. dieHE fewr feg (FU@E  WR) [20]
(1) onfcardt faw™ wEHH;
(2) U SRR
(3) YRdAMie Vo,
(4) T AefEEdE  GE;
(5) U gas omfor AR iR (IEEH);
(6) UTHIUI ATEH L.

[4104]-205 3



Total No. of Questions—4] [Total No. of Printed Pages—2

S;at [4104]-206

M.A. (Part I) (Second Semester) EXAMINATION, 2012
ECONOMICS
(EC-206 : Computer Application in Economic Analysis)
(2008 PATTERN)
Time : 2% Hours Maximum Marks : 60
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.
1. Attempt any one of the following : [1x15=15]

(i) What is electronic transaction ? Explain the steps for Authen-

tication and validation of Electronic transaction.

(i1) What is internet ? What are the different technical components

required for Internet.

2. Attempt any one of the following (A o B) : [1x15=15]
(A) () What is network ? Explain client server network. [8]
(i1) Explain C2B model with suitable example. [7]
Or
(B) (i) Explain the use of MS-Excel in economic analysis. [§]

(i1) What are the benefits of on-line Banking. [7]
P.T.O.



[4104]-206

3. Attempt any three of the following : [3x5=15]
(i) Explain the basic components of computer.
(i1) “Network is used for Resource Sharing.” Comment.
(iiz) Explain digital signature used for authentication.
(iv) What are the different types of menu in windows. Explain
the taskbar.
(v)  What is Hardware, Software and Firmware ? Give one example
of each.
4, Attempt any three of the following : [3x5=15]
(i) Explain the steps for setting up a printer.
(ii) Explain uses and impact of computer on Education, Business
and Industry.
(izi) What are the advantages of electronic trading ?
(iv) What is the need for operating system ? Explain features provided
by windows XP.
(v) Explain any #fwo applications from accessories group.



Total No. of Questions—4] [Total No. of Printed Pages—4+1

S;at [4104]-207

M.A. (Part I) (Second Semester) EXAMINATION, 2012
ECONOMICS
(EC-207 : Statistical Techniques)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.
1. Attempt any one out of two of the following : [20]

(1)  Calculate the Karl Pearson’s coefficient of correlation, the following

data using 44 and 26 respectively as origin of X and Y :
Y
29
31

19

5 & R & M

18

P.T.O.



42 27
45 27
42 29
38 41

(2) Calculate five yearly weighted moving average with weights

1 2 2 2 1 from the following data :

Year Sales (Rs. in lacs)
1997 5
1998 3
1999 7
2000 6
2001 4
2002 8
2003 9
2004 10
2005 8
2006 9
2007 9

[4104]-207 2



2. Attempt any one of the following : [20]

(1)

(2)

[4104]-207

Given the following information :

x (Rs.) y (Rs.)
Arithmetic average 6 8
Standard deviation 5 40/3
Coefficient of correlation x and y = 8/15.

Calculate :

(i) The regression coefficient y on x.

(i1) The regression equation x on Y.

(iii1) The most likely value of y when x = Rs. 100.

From the following, construct index number of the group of

four commodities :

Commodities Base Year Current Year
Price | Expenditure Price | Expenditure
A 2 40 5 75
B 4 16 8
C 1 10 2
D 5 25 10
3



(1)

(2)

(3)

(4)

[4104]-207

Attempt any two of the following : [20]

The 500 items from a factory are examined and found to be
2% defective. 800 similar items from second factory are found
to have only 1.5% defective. Can it reasonably be concluded
that the product of the first factory are inferior to those of
second ?

Given : (|Z|=1.645)
A problem in Business Statistics is given to four stut%entls %,
B, C and D. There respective chance of solving it are 23 5

1
and 6 What is the probability that problem will be solved
by any fwo of them.

Explain fully scatter diagram, with its advantages and
disadvantages.

Draw the histogram and frequency polygon for the following
distribution. Also calculate the arithmetic mean and

median :
x f
5 18
6 15
7 34
8 47
9 68
10 90
11 80
12 62
13 35
14 27
15 11



(1)

(2)

(3)

(4)

(5)
(6)

[4104]-207

Attempt any four of the following : [20]

Write the normal equations corresponding to the regression
lines :

Xy = D319 + D319:9% + D31%;
If 3 balls are distributed to 4 cells, numbered as 1, 2, 3,

4. Find the probability that each cell numbered 1, 2, 3 will

contain exactly one ball.

If 10% of bolts produced by a machine are defective; calculate
the probability that out of a sample selected at random, of

7 bolts, not more than one bolt will be defective.

A large number of measurement is normally distributed with
a mean of 65.5" and S.D. of 6.2". Find the percentage of

measurement that fall between 54.8 and 68.8.
Write the principles and steps of sampling.

Write a note on Errors in Hypothesis testing.



Total No. of Questions—4] [Total No. of Printed Pages—3

S;at [4104]-208

M.A. (Part I) (Second Semester) EXAMINATION, 2012
ECONOMICS
(EC-208 : Community Development and Planning)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(1) Explain population and social policy in Indian context.

(2)  Critically evaluate different theories of underdevelopment.

2. Answer any one of the following questions in 500 words : [20]

(1) Critically evaluate the role of state by means of public sector
in economic development with reference to planning in
India.

(2)  Critically explain the relationship between social investment and

economic growth.

P.T.O.



3. Answer the following questions in 250 words each (any two) : [20]
(1) Explain #fwo case-studies of development from India.
(2) Describe the relationship between planning and aid.
(3) Write in detail the concept of asset vulnerability framework.
(4) Explain the relationship between social development and
environment.
4, Write short notes on (any four) : [20]
(1) Basic human needs;
(2) Social capital;
(3) Foundations of social theory;
(4) Redistribution with growth;
(5)  Overseas development assistance and social planning
(6) Religious values and beliefs.
(TS EUIR)
q% : o\ A THU T : 80
o :— () WA WA Hisfau ofemds .
(i) 3IEhele 3 YO U SIifodr.
({ii) W AHA! U HLYS TG,
(jv) WRUEES W TUSH WRAUAS] HEE!.
1. wooum HUEE TH O WAE SR 500 Iee fom [20]

(1) 9Rar=a Geid Jikeed offol §mifSe 8o e
(2) ercufowEren fafayu fagiam fehrons qeommT 3.
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faY

TA@Uh! DR WH WA SW 500 IR foRl [20]
(1) 9RdE FESHE Sevid g daren Herae e faemdie

~

FMEArAT ek feehrenss oI &

(2) UHEINE Taaues ST o Joi Ao WER oy fenmms
S M B

GGkl RUAE e WD Ul 250 ITeid S TR e [20]

(1) 9Raren foemde 99 YRR oS Add T H
(2) fEeE onfor Hed Tl WER oY JUH - .

(3) WIoHAl WeIdl dihe @ Hehoudl Hfasw ol

(4) wmiSer fam o0for gafeRol I=adie TEREeY T &

@olous! PRl aReR feqr fowr . [20]

(1) HEar=A HoYd TS

(2) OIS veds,

(3) UYE wmitee  fagid;

(4) T gFaey;
(5) UUhd A AT IS HISH;
(6) e Hea i srgl

[4104]-208 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[4104]-301

M.A. (Part II) (Third Semester) EXAMINATION, 2012

ECONOMICS
(EC-301 : Macro-Economic Analysis—I)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. — (i)
(11)
(i11)
(v)

Attempt All questions.
Figures to the right indicate full marks.
Answer should be precise and to the point.

Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain different forms of national income accounting.

(2) Explain the circular flow of income in an economy.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the Keynesian psychological law of consumption. What

are its implications ?

(2) Explain the classical approach to demand for money.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the life cycle hypothesis in consumption.

P.T.O.



(2) Explain the process of investment multiplier.
(3) Explain Keynesian liquidity preference theory.

(4) Explain the factors affecting marginal efficiency of capital.

4, Write short notes on (any four) : [20]
(1) High powered money
(2) Income consumption relationship
(3) RBI's approach to money supply
(4) Liquidity trap
(6) LM curve

(6) Consumption function.

(AOE ®UI)
q% : dE A THU T : 80
o :— (i) §d T3 e
(i) ISEhele 3 qul IO <Fifaar.

({ii) JW THHI 9 HLHS SAHE.

(iv) STeRIHR < TSRO ook TMFAT HIal
1. O YEAUH ROAE  TEhrd 500 [ W fosl [20]

(1) T&EE 3= dooarea fafay ggdl ¥ &

(2) ATTIEAE TRE IqTA GhihR Fa@ T H.

2. Wdlo YA HUARl Tk S® 500 IS fomr [20]

(1) S ITYMTET AAWTETE f9gd T e Iele HIiQl shIvel
d 9.
(2) TN AEiEn gAad gfeda TR L

[4104]-301 2



3. TPe WA S® YOS 250 I=E fow (FUOE |/F) [20]
(1) SUYAdIe  Sffeq=sh fgde T .

(2) ‘idOIULOI'; T0Th gfhdl T2 H.

(3) HH=l JEal yEdt f9gid T &L
(4) VSISl 9Hd VIO IROMH HOR ek T H.

4. dieF@ AU fow (e |\r) e [20]
(1) = IR0 94
(2) 3IAA UG Ty

(3) e ReewfowEn fored ddr gfeswH
(4) @@ Hdel

(6) TaEwWw (LM) <

(6) SUWN HeH.

[4104]-301 3
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Seat
No.

[4104]-302

Time :

N.B.

M.A. (Part II) (Third Semester) EXAMINATION, 2012
ECONOMICS
(EC-302 : Economics of Growth)
(2008 PATTERN)

Three Hours Maximum Marks : 80

:— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one of the following questions in 500 words : [20]

(1) What is economic growth ? Explain the factors affecting on
economic growth.

(2)  Critically explain the Ricardian theory of Economic Development

of capatalist economy.

Answer any one of the following questions in 500 words : [20]

(1) Explain the Harrod and Domar model for economic
development.

(2)  Critically examine the Schumpeter’s theory of economic growth

in the development of capatalist economy.

Answer the following questions in 250 words each (any two) : [20]
(1) Explain the economic growth model of Kaldor.

P.T.O.



(2) Explain Solow and Meade Neo-Classical growth models.
(3) Explain the theory of social change.

(4) Explain the structural analysis of development.

4, Write short notes in 100 words each (any four) : [20]
(1) Intellectual capital
(2) Education and Research
(3) Adam Smith’s naturalism
(4) Surplus value and profit
(5) Embodied and disembodied technical progress
(6) dJohn Robinson’s growth model.

(W& FUI)
q% : o\ A TR T : 80
o :— () Wd WA Hed
(i) ISEhele 3 qul IO <Fifaar.
({ii) JW THHI 9 HLHS SAHE.
(iv) SAIEIH d9 Yosh IMHAT hlal

1. woous &UAE @ WA S® 500 IA fed [20]
(1) ofde Jgt =uS w7 oWfde ggler gRumm UM Heh W
h .
2) Zfxee RFEl 9= Jdeamm Adeawd=n fawm fagae fearms
qRer .
2. WO HUAE W WAW S® 500 =@ foR [20]

(1) ornffs foermm s 9 SR 9fdaE T &
(2) F[URTSN vicaeRTE SdeRdd e g5t fagra fewras qftemo
.
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(D)
(2)
(3)
(4)

(D)
(2)
3)
(4)
(5)
(6)

[4104]-302

TSGR IR TSR 250 I fom (e @)

hTeRd Y g Afaam s &

die 9 Wie e TeeaeRt gal Ifaue ' &

31k S O | rHoSid Ted .

foehTE TS foRowu T &

100 <@ e feur four (@ =w)

Sifgh TeaD

Rreor afor ElEE

sfen fmgen frafamr

AR Hed o T

STty 9 F-sFftyd qifaeh Tt

S Afoes I gg gfaam.

[20]

[20]



Total No.

of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[4104]-303

M.A. (Part II) (Third Semester) EXAMINATION, 2012

ECONOMICS
EC-303(A) : Research Methodology
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(2)

(i1)

What is Research ? Explain the nature, importance and utility
d Social Science Research.

Discuss the stages of Report Writing.

2. Answer any one of the following questions in 500 words : [20]

(2)
(it)

Explain the stages involved in Research Design.

What are the difficulties in Social Science Research ?

3. Answer the following questions in 250 words each (any two) : [20]

(i)
(i)
(ii1)
(iv)

Explain various types of sampling.
Explain the characteristics of good questionnaire.
Explain the statistical methods used in research.

What are the primary and secondary sources of data collection ?

P.T.O.



4, Write short notes in 100 words each (any four) : [20]
(i) Size of sample
(ii) Case study method
(iii) Types of Correlation
(iv) Measures of Central Tendency
(v)  Hypothesis Testing

(vi) Dispersion.

(W& EUIWR)

q9% : o a™ THUT 0T ;80
o :— (i) §d WA diefau eRds R
(i) SoEhEls 3w ol U eFifaa.

({ii) SW THA! 9 HLHS THME[.

(lv) TEIEE Yoo TUSH YLAUCIRT URrEl.

1. TOOUH! HUERT Tk Tl W 500 v fowr [20]

() TIMEH WUS ®E ? g IS GIYAe ©%Y, Hekd d

SHYerddl  HS  onrl.

(ii) oTgdle oEarea fafay gE==n == &

2, WOOYR HOAE Teh WAET SW 500 v fowr [20]

(i) RN STREEAMG oA TIRI .

(i) HHETSRTST=AT GYYAdie STedul  hiven  ?

[4104]-303 2



3. Goe U Ul 250 YsSd S el (HIUEl QM) [20]

() TN Tedt=n fafay ugdt wWs %A

(i) SHR YEoET Aty TR S

({i7) WENYA IORCAT SO AIfeThid Igal T .
(jv) Wifed! Heohodd Wafe 9 TFE @[ fovk &

4, WO AN TR 100 T=RE IR (FOWE WN): [20]
(1) A 3T
(i) fafererame ggd
(iii) WEESHr YN

fa fa

(jv) HIF YT A

(v) TRIAFEET TSl

(vi) fo=e.

[4104]-303 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

M.A. (Part II) (Third Semester) EXAMINATION, 2012
ECONOMICS
EC-303 (B) : Econometrics
(2008 PATTERN)

Time : Three Hours Maximum Marks

N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.

(zv) Use of calculator is allowed.

1. Answer any one of the following questions :

No. [4104]-304

: 80

[20]

(2)  The following data shows inflation rate (Wp;) and percent fiscal

deficit with respect to GDP for different years :

Wp, % FD/GDP
8.2 8.1
75 7.8
75 7.9
10.3 8.4
135 5.9
10.0 5.7
8.3 7.7
10.9 6.1

P.T.O.



(i1)

(2)
(it)

[4104]-304

Find the regression line of Wp; on % FD/GDP and hence estimate
Wp, when % FD/GDP is 7%. Also interpret the coefficients
in the equation.

Obtain the reduced form equations for the following Keynesian

model of income determination. Also comment about the

identifiability of these equations :
Consumption function : C, =By +B; v, +u;, 0 < By <1
Income identity :

where C (consumption) and Y (income) are the endogenous

variables and I (investment expenditure) is an exogenous

variable.
2. Answer any one of the following questions : [20]
(i) Write a detailed note on heteroscedasticity.
(ii) Find the autocorrelation coefficient for the following series :
Y : 22, 25, 25, 24, 26, 25, 26, 27, 27, 27
3. Answer any two of the following questions : [20]

Explain Logit and Tobit models.
Write a note on dummy variable.

2



(ii1)

[4104]-304

Explain what do you mean by stationary and non-stationary

time series. State their types.

(iv) Explain consequences of using OLS estimators in presence of

autocorrelation and state remedies for the same.
4, Answer any four of the following questions : [20]

(i) State the sources of multicollinearity in the regression
model.

(ii) Explain multiple correlation coefficient and partial correlation
coefficient.

(iiz) Explain properties of least square estimators in linear regression
model.

(iv) State the two rules of identification in simultaneous equations
model.

(v) Explain vector Auto-regression.

(vi) State properties of integrated time series.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4104]-305

M.A. (Part II) (Third Semester) EXAMINATION, 2012
ECONOMICS
(EC-304 : Banking and Financial Institutions)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(1) Explain the structure of financial system in India.

(2) Discuss the banking reforms in India after 1991.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the functions and working of Industrial Finance
Corporation of India.

(2) State and explain the functions and working of International

Monetary Fund.

3. Answer the following questions in 250 words (any two) : [20]
(1) Explain the functions of World Bank.

P.T.O.



(2) Explain in detail the role of State Bank of India.
(3) Explain equilibrium in financial markets.
(4) Discuss the main characteristics of Non-Banking Financial

Institutions.

4, Write short notes on (any four) : [20]
(1) Euro-currency market
(2) Mutual funds
(3)  Objectives of the Monetary Policy
(4) State Financial Corporations
(5) Indicators of Financial Development.

(6) Performance of Co-operative Banks.

(A0S ®UI)
q% : o\ A THUW T : 80
o :— () |d WA At oA
(i) ISEhele 3 qul O <Fifaar.
(iii)) JW Hegg 01 9kt SFHrEld.
(jv) TEuiErEdl St WUHT ggrEl.
1. UTooum HUER Tl ¥ W 500 Iei[ four e [20]
(1) 9RdrE foxia gomed @WEY W .
(2) 199170 F@G YRANG dhfasTsdh GURUT= ==l .

2. WOGUH! DUERI TRl TR W 500 I fowr [20]
(1) 9RdE SfEifee fag #wemse=l  (IFCIH & 9 HER W
CX

(2) STRUEE A=t IMF) & 9 ®EA” @ 9 T H

[4104]-305 2



3. TR QN TAEI Yo 250 IS S foer e [20]
(1) Srfdes de<l i feRE *:.

[ o

(2) 9RAE Ve dodl fiwr dfow® T &

(3) foxia NN WHAG WS &L

(4) “em o wearen gen afmeart == &

4, deqEd fow fowr (o ww) [20]
(1) IO aeR
(2) TR fasn

(3) ToAdfauTe HRomd 3fEs
(4) T foq HeHses
(5) foxra fawmm Az

~

(6) HEHN Sehrel ShHIENT.

[4104]-305 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4104]-306

M.A. (Part II) (Third Semester) EXAMINATION, 2012
ECONOMICS
(EC-305 : Welfare Economics)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (1) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) What is Pareto optimality ? Explain briefly the conditions of
Pareto optimality.

(2) State Marshallian concept of Consumer’s surplus and explain

the measurement and criticism of Marshallian consumer’s

surplus.

2. Answer any one of the following questions in 500 words : [20]
(1) Point out in detail the divergence between private and social
cost.

(2) Explain Kaldor and Hicks’ contribution in Welfare Economics.

3. Answer the following questions in 250 words each (any two) : [20]
(1) What are the external economies and diseconomies of

production ?

P.T.O.



(2) Explain ‘Samuelson’s utility possibility curve’.
(3) Explain the cost benefit analysis.
(4) Explain Benthamine approach to aggregate welfare.

4, Write short notes in 100 words each (any four) : [20]
(1) Arrow’s impossibility theorem
(2) Top level optimum
(3) Non-market interdependence
(4) Principle of compensation
(5) Problems of Public goods

(6) Issues in Income Distribution.

(AOE ®UI)
q% : o\ A TR T : 80
o :— (i) §d WA e
(i) JW AUkl 9 HLYS ITHEId.
(iii) IS sF o U it
(lv) TeUEd Hos SUSH WU U@,

1. wUEE Tk WY SR 500 I fod [20]
(1) WLEE TaUal WIS i ? WAl Seaudel o diesdd W
.

(2) WRfo IYMTATAT TSR Hehedqdl 9N o ARTG USRI
AR ASHY d  fewees gftemr e L

2. TOHOUH HUER Tk WA SR 500 3= TR [20]
(1) @ Td 9 gHEfSs ©" ade Bl W &

(2) FAURN AWMEG Feel d g I Aem fomre +a.

[4104]-306 2



3. UWOlo WA Y@ 500 ISd SW fow (FUPE dF) e [20]

(1) SORA=A d| oe9dt 9 STeEdt i ?

(2) UHSEET SWIRE IRl 9% TR R
(3) wd oY fomoun e &4
(4) oI GHY wedUmrEl RIRH fare %A

4, TEHRER 100 I gedd fewr fog (R |m) [20]
(1) 9 SEEd 99g

(2) TEJHET IT9EN

(3) STANIRIAIS S &g

(4) WUEY d@

(5) HES(h oA HHE]

(6) 33O favreadie 9HE=.

[4104]-306 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[4104]-307

M.A. (Part II) (Third Semester) EXAMINATION, 2012

Time :

ECONOMICS
(EC-306 : Economics of Finance)
(2008 PATTERN)

Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1)

(2)

What is efficient market hypothesis ? Explain the forms of
efficient market hypothesis.

State and explain the mechanics of future market.

2. Answer any one of the following questions in 500 words : [20]

(1)

(2)

Classify the securities and explain its general
characteristics.
Explain in detail the components and working of the stock

market.

3. Answer the following questions in detail with 250 words each

(any two) : [20]

(1)

Explain the mechanics of commodity future.

P.T.O.



(2) Explain the types of swaps.
(3) State and explain the financial sector participants.

(4) Explain the functions of SEBI.

4, Write short notes on (any four) : [20]
(1) Types of derivatives
(2)  Arbitrage
(3) Concept of cash flows
(4) Stock options
(5) Speculators

(6) Corporate securities.

(TS ®UI)
q% : o\ A THU T : 80
OO :— (i) WA WA STeRdsHh 3.
(i) ISehele 3 qul IO <SFifaar.

({ii) JW THHI 9 HLHS SAHE.

(lv) TS Yoz TUSH TEAUCIRT TG,

1. TOoUR HUERT Tk Tl SR 500 IR fowr [20]
(1) =Eie™ dNR TRde /oS M ? hESH FNR JEAed YRR TR
.

(2) fg SERET ISOT 9T 9 TR &

2. UoeUR! HUAE  Tw WA SW 500 =@ fowr [20]
(1) gdrd= aFffetor & oo gfayd=n wdaame afimse v
.

(2) W INNEIG T2k MU I S Gfasl T 6.

[4104]-307 2



3. Woe TAE SN YIS 250 IS foml (RUE @) [20]

(1) o5 99K IA7 FioxR T H.

(2) OAH-CFT YhR TR H.

(8) foxig &9die 9eYrl 9 9 W HA
(4) ‘G HE TR HA

4., geFE foar feg (dUaE W) [20]
(1) faeTa Y&R
(2) Hedw qUH
(3) U@ WaE TGheuHl
(4) @ fashcey
(5) Hears
(6) AT FfA.

[4104]-307 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[4104]-308

Time :

N.B.

M.A. (Part II) (Third Semester) EXAMINATION, 2012
ECONOMICS
(EC-307 : Economics of Environment)
(2008 PATTERN)

Three Hours Maximum Marks : 80

:— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.

(iv) Draw a neat diagrams wherever necessary.

Answer the following questions in 500 words (any one) : [20]
(1) What is environment ? Explain the types of environment.

(2) Explain in detail the New Model of Pollution Control.

Answer the following questions in 500 words (any one) : [20]
(1) Explain the effects of macro policy on environment.

(2) Discuss the Environmental Laws and their implementations.

Answer the following questions in 250 words each (any two) : [20]
(1) Discuss the need for environmental education in India.
(2)  What is pollution ? Explain the instruments used for controlling

water and air pollution in India.

P.T.O.



(3) Discuss the Grass-root movements for Environment Education.
(4) Elaborate the co-relation between environmental development

and sustainable development.

4, Write short notes in 100 words each (any four) : [20]
(1) Environmental externalities
(2) Valuation methods
(3)  Sustainable development
(4) Social forestry
(5) Human capital

(6) Environment values.

(W& FUI)
q% : o\ A TR T : 80
o :— () Wd WA Hed
(i) ISEhele 3 qul IO <Fifaar.
({ii) JW THHI 9 HLHS SAHE.
(iv) SAEIHR d Gk AHAl hlal.

(v) TS Yoz TUSH WYY TRrEl.

1. Uouhl FUEE TRl W™ SR 500 <@ foer [20]

(1) YIoRU US| kA ? YOO GhR TR .

(2) Tguw fEEoe TN gfiae sfawR s &

2. TWOHOUH DR Tl YR W 500 I fowr [20]
(1) 99U 4RO YHeRomeiid 9Rom o &
(2) TIERU ®mEE AU A=l STHASSIAU] Sed Ol R

[4104]-308 2



3. Tl WAE IW TSR 250 IWA o (FOER EH) e [20]
(1) At gafero fogor sTeegshd=t == .
(2) YUY WUN ®E ? ARAM gal S SA-Igu ESUEE S
JUR | TRL .
(3) ‘‘uFieRu TAUTHCS! deNTeeldiel weedes '—=di .
(4) TEEw fge™ onfr vwwad fasM adia deuey fove &

4, derEd foo fom (v&@=t 100 3I=@)  (FUHE AR) [20]
(1) YAl 9=

(2) HoIHMH Tl

(3) vRad faw™g

(4) HHISeh SR

(5) HFEEl HIedd

(6) TICERU Hd.

[4104]-308 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4104]-401

M.A. (Part II) (Fourth Semester) EXAMINATION, 2012
ECONOMICS
(EC-401 : Macro-Economic Analysis—II)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B.

— () Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one of the following questions in 500 words : [20]

(i) Explain the extension of IS-LM model with government

sector.

(ii) Explain Schumpeter’s theory of business cycle.

Answer any one of the following questions in 500 words : [20]
(i) Describe the policies to control inflation.

(ii) Explain the natural rate of unemployment hypothesis.

P.T.O.



3. Answer the following questions in 250 words each (any two) : [20]
(i) Explain the short run and long run Philips curve analysis.
(ii) Explain the relative effectiveness of monetary and fiscal policy
with the IS-LM curve.
(iii) Explain Friedman’s modern quantity theory of money.

(iv) Explain Tobin’s modified Philips curve.

4, Write short notes in 100 words each (any four) : [20]
(i) Keynesian theory of interest
(i1) Patinkin’s real balance effect
(iit) Monetarists approach to inflation
(iv) Goodwin’s model of trade cycle
(v)  Fiscal policy

(vi) Classical approach to inflation.

(W& T UIR)
q9% : o a™ THOT 0T : 80
T :— () |& Yz e
(i) SoEhEle 3w ol U eFifaa.

({ii) JW THRI 9 YT M.

(iv) 3TeRIw dY goh 3ThcAl hlal

1. UoUs ®OER TRl T 500 =[S fod [20]
(i) IS-LM didaEmn  ImEfRd &R faer s .

(i) AR I AMR T F9g[ TR FHA

[4104]-401 2



2. WOOWR HUAR Tk WA 500 IR G [20]

(i) o sfagsl v gR% W &
(i) R 9iie 9 fgdw TR H
3. Tl WA Yokl 250 IE[ SW o fow (FOE gD [20]
(i) ITURGH 9 SrHwoH fhfow %M faoum &
(i) ISLM do%hi=a1 HeRAM <TAdSdeh o UsThISA  Hom=l wHe
IROTHSRRRAT T H.
(i) TRedT=n sMyfe =1 T&amMH f9g| = &
(iv) il guiid Thiew ok s .
4. dieREd AW fegl (ROGET 9R) (YS! 100 ¥SEE) [20]
(i) g AT fasid
(17) Ufeafwa I araa fRees  aiomg
(iii) TXARTA FGTEE greehH
(iv) Tefoa =MUR=  YiddH
(v) TSTHIEE R
(vi) = SfagGEl WRAA gEh .

[4104]-401



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4104]-402

M.A. (Part II) (Fourth Semester) EXAMINATION, 2012
ECONOMICS
(EC-402 : Economics of Development)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (1) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(1) Explain the International trade as an engine of economic
growth.

(2) Explain the role of agriculture in economic development.

2. Answer any one of the following questions in 500 words : [20]
(1) Explain in detail the role of Monetary Policy in developing
countries.

(2) Explain the critical minimum effort thesis.

3. Answer the following questions in 250 words each (any two) : [20]
(1) Explain the role of Foreign Direct Investment in economic
development.

(2) Explain the Myrdal theory of International Trade.

P.T.O.



(3) Explain the B Push theory of economic development.
(4) Explain the ways and problems of Human Resource

Development.

4, Write short notes on 100 words each (any four) : [20]
(1) Absolute and relative poverty
(2) Burden of Borrowing
(3)  Globalisation and agricultural growth
(4) Balanced and unbalanced growth
(5) Dynamic gains from trade

(6) Importance of infrastructure.

(A0S ®UI)
q% : o\ A THU T : 80
o :— (i) §d WA e
(i) ISEhele 3 qul O <Fifaar.

({ii) JW THHI 9 HLHS SAHE.

1. TOoUR HUERT Tk Tl SR 500 IR fowr [20]
(1) AW HAOR ¢ TfYe gge SSid o § dfawi ¥ &
(2) onfder foshm@ Tl qfieRr fare

2. UoGUR! HUAE  Tw WA SW 500 =@ fowr [20]
(1) forawfic M Iodfaues  HRom= Yfieh dfowR T 4.
(2) foam foiae e f9g| T\ &

[4104]-402 2



(6)

[4104]-402

3. WoT WA SW TS 250 I fow (RORE @) [20]
(1) onfde foemEm WeE 92 T[aaume Hed W &
(2) Thoefo = AAWsE MRl f9gd T &1
(3) onfdsr fosmamn Si=n wgm fagia fare &
(4) WAFE TEEA foeE™ O @ e W &
4. W 100 3= dew fow fow (P W wr) e [20]
(1) w9 9uyg <isy
(2) SEl YR
(3) IfdehiTor § FE TSI
(4) dUqfed a owE{fed Iai
(5) SANNUYETY Tiazile @Y.

Aoyd 9urEEe (o) w'd@.



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4104]-403

M.A. (Part II) (Fourth Semester) EXAMINATION, 2012

ECONOMICS
EC-403 : International Economics
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (1) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(i)  Distinguish between ‘absolute and comparative’ advantage. Show
how all trading nations could gain from trade. You may use
a model of two countries and two commodities to illustrate
gains from trade.

(i) Discuss international trade equilibrium when there are increasing

returns to scale in production.

2. Answer any one of the following questions in 500 words : [20]
(i)  Haberler has argued that the terms of trade should be optimized

rather than maximized. Do you agree with his view ? Give

reasons.

P.T.O.



(it) Comment on recent changes in India’s Foreign Trade
Policies. State its effects on India’s Balance of Payments since

1991.

3. Answer the following questions in detail with 250 words each

(any two) : [20]

(i) Explain the policies of MNCs that deteriorates the advantages

of underdeveloped countries from trade.
(i1) Comment on merits of flexible rate of exchange.

(zit1) Describe the effects of non-tariff barriers on terms of

trade.

(iv) Discuss briefly the Stolper-Samuelson theorem.

4, Write short notes on (any four) : [20]
(i) Intra-Industry Trade
(ii) Linder Theory of International Trade
(ii1) Terms of Trade and Underdeveloped countries
(iv) Recent export promotion policies in India
(v) Effects of deficit in balance of payments

(vi) Achievements of I.M.F.

[4104]-403 2



(WS wUTaR)
q% : o\ A TR T : 80

g :— (i) WA YT Giefau STeRds  SRd.

({ii) JW THHI 9 HLHS SAHE.

(fv) STeRIR dF Yook AR HIal.

(v) TGS Hoz TUSH TEAUCAIHT TR,

1. TRk ®UAE W WAE W 500 Ik fed [20]

() TRIg 9 AUy o9 IEHe Feh 9. SO SANRORT  §6

ST @Y HAT Tl o STEEl. ARURTY & T H0IEe! Tl

T W F TE T YHERT AR HE IR

(i) SEEATE de Sded Yfawersn Roda STarse AR SHdraTEl

EElc T

2. WooUm HUAE W WAl SW 500 IEW (R [20]

(i) ARG AEAHRUMIE TR 3o Tifes 3161 oo Jeiag
HA. AU A RIGHEN HEHd R hE 7 hRO L

(ii) YAl STOIhe<dl HIodie GUhT AR URUMAIS Sede WISy

FHA. 1991 TRA @@l WRAA FRRdeede  qRumd 9.

[4104]-403 3 P.T.O.



3. THo TRl TE 250 I HiowR S feRl (RveEl @M : [20]

(i)  STeqfoeRad I ATIRUARES @Y HH HIOR TGAL I HaA= G-I
oo R
(i) wafasw fafHacT=an TUeR w9 &
({ii)) AR ASYSIA AMGTA OIS TROMHE J0F .
(jv) WeR-UgAGE JfqaHr=T e ==l &
4., greFE feur fowr (wUEET WR®) [20]
(1)  STM-3IN AR
(i) Tostmn oo =mrmEn fagi
(iii) SAHfohRf¥d < o TR
(lv) STHHSAT Hee URAMG Ed JeEed  grRo
(v) IR dodie gerd afiom
(vi) STAST  ATOE=  Hica.

[4104]-403



Total No. of Questions—4] [Total No. of Printed Pages—3

S;at [4104]-404

M.A. (Part II) (Fourth Semester) EXAMINATION, 2012
ECONOMICS
(EC-405 : History of Modern Economic Analysis)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain IS-LM model by Hicks. How is it relevant with Modern

Economics ?

(2)  Critically explain Modigliani’s model of Limit Pricing.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain Amartya Sen’s thoughts on Welfare Economics. How

are they different from Pareto’s Welfare Economics ?

(2) Explain the contribution in the theory of value by Samuelson.

P.T.O.



3. Answer any two of the following questions in 250 words each : [20]

(1)
(2)

(3)

State the theory of price by Milton-Friedman.

Explain the assumptions of Ohlin’s theory of International
Trade.

“Myrdal is regarded as the Adam Smith of poverty.”
Comment.

(4) Why the Quantity Theory of Money has been called as ‘old
wine in new bottle’ ?
4, Write short notes on (any four) : [20]
(1) Friedman’s Monetarism,;
(2) Permanent Income Theory;
(3) Meade’s approach to general equilibrium of production and
consumption;
(4) Revealed preference;
(5) Portfolio Theory of James Tobin.
(6) General Equilibrium Theory of Kenneth Arrow.
(W& ®UIR)
q% : dF A THUW T : 80

I :— (i) §d WA Hree

(i) Sl % YU O SFifeard.

({ii) JW THHI 9 HLHS SAHE.
(iv) SAEIHR dU Gk AHAl hIal.

(v) TS Yoz TUSH WEAUAHRT TRrEl.

1. UTOTOwh HUAR Tk WAEI W 500 I foar [20]
(1) T 9= ISLM 9faam T 3. emyfie Iedememeh @ &8 geid
AR ?
(2) WifefasTt aren wFifca frua-ffyedr gfauamm ferrcorss Tt
.

[4104]-404



2.

TH@US! DR W WA W 500 V=W o [20]

(1) 3T U9 AT HeAUhRI UM foaR Tase 6. T2 =1 hedTuehi

A 7 HH Y= smed ?

(2) UREEd I9 godrggadid dNeH T .

goe YRl YR 250 I SW fowl (RivEl Q) [20]

(1) foaeea-frems a=n feuad fag@ .

N o

(2) oigfem Tr=n AW AN fagiael Téd T &

(3) ‘‘faefa amm <ifcam feafmy 3@ HaydE.'' 9 &

(4) —oeemH fHgae ‘TEE dedms I % T8l e S ?

dera feor o (U@ =Emw) [20]

(1) Trem 9= TEER;

(2) TRt 3= fagia

(3) HE AN SERA & SUYHN Aemeaal HoaHERe FHdeeadl gl
(4) WHS HEdl

(5) = <ffem Fen @ Guew fagid

(6) @AY ST AT TAWHRY HdeW fagm.

[4104]-404 3
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